
Q1) a) What is Network Device? Explain Bridge and Gateway. [6]

b) Explain the following topologies with diagram : [5]

i) Bus

ii) Star

iii) Ring

iv) Mesh

v) Tree

c) Explain Port addressing and Other addressing. [4]

OR

Q2) a) List and Explain following types of networks : [6]

i) LAN

ii) MAN

iii) PAN

b) What is the difference between guided and unguided transmission
media? [5]

c) State advantages and disadvantages of ring topology. [4]
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Q3) a) Explain the following : [6]

i) Attenuation

ii) Distortion

iii) Noise

b) Explain Frequency division multiplexing? [5]

c) Write short note on Manchester code. [4]

OR

Q4) a) What is Multiplexing? Explain Time Division Multiplexing. [6]

b) Compare Message Switching and Packet Switching. [5]

c) Explain types of cable connection? [4]
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